Unit 10 Review Sheet — Algebra Enriched
Solving Quadratic Equatlons
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For 1 — 2, solve the following quadratic equations by taking square roots. If necessary, leave each
answer in simplest radical form.
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For 3 — 4, solve the following quadratic equations by factoring. 9*9 3
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For 5 - 6, find the value ¢that completes the square.
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For 7 — 8, solve each quadratic equation by Em%t_nggjhe square. If necessary, leave each answer
in simplest radical form.
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For 9 — 10 solve each quadratic equation using the quadratic formula. If necessary, leave each
answer in simplest radical form.

9.) x*-10x+18=0 10.) 3x2-2x=4
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11.) If the second of three positive consecutive integers is added to the product of the first and the
third, the result is 71. Find the three integers. Only an algebraic solution will be accepted.
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12.) The rectangular front of a birdhouse has an area of 18 square lnches If the base of the front
piece is 3 inches longer than the height, find the length of the base and the height. Only an
algebraic solution will be accepted.

Lot OSE = XD Xr3X =18
) A3 -18=0
(X +bYx-3)=0
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13.) If the squares of positive consecutive even integers are added, the result is 100, Find the
integers. = ( 2
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@ The ratio of the length to width of a rectangle is 2:7 and the area is 896% square yards. What is

L. / the perimeter of the rectangle? ‘
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15.) Solve the following quadratic equation using the quadratic formula. Express the answer in

simplest radical form. _
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16.) Solve the following quadratic equation by factoring.
{2 =13x ’
A= =0
AX=13)= ()

O) \3}

17.) Find a quadratic equation that has a solution of {-7,4}.
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18.) Solve for x.
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19.) Solvé\ for all values of x by completmg the square. Express the answer in simplest radical form.
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20.) Solve the following quadratic equation using all three methods.
Factoring Completing the Square (guadratlc Formula
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